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138| 150 | 400 | 200 | 400 400 0.14 | 2.450 0.277 0.067 0.344
139| 150 | 500 | 400 | 700 | 50 750 0.14 | 3.667 0.415 0.133 0.548
139| 200 | 500 | 400 | 700 | 50 750 0.14 | 3.667 0.415 0.142 0.557
500%
700 139| 150 | 500 | 400 | 700 | 50 750 0.14 | 3.667 0.415 0.133 0.548
139| 200 | 500 | 400 | 700 | 50 750 0.14 | 3.667 0.415 0.142 0.557
153| 200 | 500 | 300 | 918 50 968 0.14 | 4.341 0.659 0.361 1.020
75 250 | 150 | 280 | 20 300 0.14 1.940 0.220 0.027 0.247
100 | 300 | 150 | 3825 | 25 350 0.14 2.162 0.245 0.039 0.284
- 125 | 350 | 150 | 375 | 25 400 0.14 | 2.383 0.270 0.054 0.324
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143| 400 | 500 | 50 | 550 | 100 | 706 650 | 0.14 | 6.316 0.716 0.132 0.848
400 144 |400x400| 1000 | 400 | 750 | 100 | 820 850 | 0.14 | 9.002 1.020 0.238 1.258
500 145 |500x500| 1070 | 470 | 750 | 100 | 920 850 | 0.14 | 9.963 1.129 0.319 1.448
400 146 |400x400| 1000 | 400 | 850 | 100 | 940 950 | 0.4 | 11171 | 1.266 0.335 1.601
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